NBER WORKING PAPER SERIES

THE IMPACT OF THE GLOBAL COVID-19 VACCINATION CAMPAIGN ON ALL-CAUSE MORTALITY

Virat Agrawal Neeraj Sood Christopher M. Whaley

Working Paper 31812 http://www.nber.org/papers/w31812

NATIONAL BUREAU OF ECONOMIC RESEARCH 1050 Massachusetts Avenue Cambridge, MA 02138 October 2023

Funding provided by NIA R01AG073286 (Whaley) and the Peter G. Peterson Foundation Pandemic Response Policy Research Fund (Agrawal). We thank Coady Wing and seminar participants at the 2023 ASHE conference for helpful comments. The views expressed herein are those of the authors and do not necessarily reflect the views of the National Bureau of Economic Research.

At least one co-author has disclosed additional relationships of potential relevance for this research. Further information is available online at http://www.nber.org/papers/w31812

NBER working papers are circulated for discussion and comment purposes. They have not been peer-reviewed or been subject to the review by the NBER Board of Directors that accompanies official NBER publications.

© 2023 by Virat Agrawal, Neeraj Sood, and Christopher M. Whaley. All rights reserved. Short sections of text, not to exceed two paragraphs, may be quoted without explicit permission provided that full credit, including © notice, is given to the source.

The Impact of the Global COVID-19 Vaccination Campaign on All-Cause Mortality Virat Agrawal, Neeraj Sood, and Christopher M. Whaley NBER Working Paper No. 31812 October 2023 JEL No. I1,I18

ABSTRACT

The global COVID-19 vaccination campaign is the largest public health campaign in history, with over 2 billion people fully vaccinated within the first 8 months. Nevertheless, the impact of this campaign on all-cause mortality is not well understood. Leveraging the staggered rollout of vaccines, we find that the vaccination campaign across 141 countries averted 2.4 million excess deaths, valued at \$6.5 trillion. We also find that an equitable counterfactual distribution of vaccines, with vaccination in each country proportional to its population, would have saved roughly 670,000 more lives. However, this distribution approach would have reduced the total value of averted deaths by \$1.8 trillion due to redistribution of vaccines from high-income to low-income countries.

Virat Agrawal University of Southern California Sol Price School of Public Policy Los Angeles, CA 90089 viratagr@usc.edu

Neeraj Sood Schaeffer Center for Health Policy and Economics Sol Price School of Public Policy University of Southern California University Park Campus Los Angeles CA 90089 and NBER nsood@healthpolicy.usc.edu Christopher M. Whaley Brown University 121 South Main Street Providence, RI 02912 christopher_whaley@brown.edu

1. INTRODUCTION

The COVID-19 pandemic inflicted enormous economic, social, and health costs (Agrawal et al. 2023; Cutler and Summers 2020; Viscusi 2023; Qiu et al. 2020; Chetty et al. 2020). As of October 1, 2023, over 6.9 million COVID-19 deaths have been reported globally ("WHO Coronavirus (COVID-19) Dashboard" 2023). The pandemic has also led to several spillover effects, including reduced health care utilization (Cantor et al. 2022; Whaley et al. 2020; Ziedan, Simon, and Wing 2020), declines in economic activity (Chetty et al. 2020), and mental health challenges (Breslau et al. 2021; Raviv et al. 2021; Ettman et al. 2020). Contrary to a typical vaccine development timeline of 5-10 years, the first COVID-19 vaccine was approved for use in the US by the Food and Drug Administration on December 11, 2020, less than a year after the start of the pandemic. Following the approval of the first COVID-19 vaccine, several other COVID-19 vaccines were approved for emergency use by countries across the world. The approval of these vaccines led to the launch of a global campaign to vaccinate people to protect from COVID-19 infection. Within eight months, over 2 billion people were vaccinated globally, making it the largest public health campaign in history. Prior studies have examined the impact of COVID-19 vaccines on COVID-19 deaths (Gupta et al. 2021; Steele et al. 2022; Haas et al. 2022; He et al. 2022; Watson et al. 2022). However, the impacts of the global COVID-19 vaccination campaign, on worldwide all-cause mortality are not fully understood.

While data from clinical trials suggested that vaccines are safe and effective (Polack et al. 2020; Baden et al. 2021; Voysey et al. 2021), the real-world effectiveness of COVID-19 vaccines in averting deaths might differ from clinical trial evidence for a variety of reasons. First, individuals in real-world might change protective behaviors in response to vaccinations compared to participants in clinical trials as participants in clinical trials did not have evidence on the

effectiveness of the vaccine and they were blinded to whether they received the experimental vaccine or placebo (Agrawal, Sood, and Whaley 2022). Second, the effectiveness of vaccines might depend on the variant of infection. The dominant variants when vaccines underwent clinical trials were different than the variants that were widespread when vaccines were introduced (Katella 2023). Third, the effectiveness of the vaccines might depend on prior infection status and most clinical trial participants did not have a prior infection. Fourth, the effectiveness of vaccines might reduce with time since vaccination due to wanning antibody levels (Tartof et al. 2021; Eyre et al. 2022; Menni et al. 2022; Ferdinands 2022). Fifth, COVID-19 vaccines might influence all-cause mortality by affecting mental health, social isolation, health care use and economic activity (Agrawal et al. 2021; Díaz et al. 2023; Deb et al. 2022; Kwok et al. 2021); and clinical trials were underpowered to estimate the effects of vaccines on all-cause mortality. Sixth, clinical trials are not suitable for estimating general equilibrium effects, such as the effects of vaccination on reduced transmission of disease.

There is a growing literature examining the effects of vaccines on mortality. Existing observational studies have focused on the effects of vaccination campaign in single countries (e.g., the U.S. and Israel) and have examined the effects on COVID-19 mortality only (Gupta et al. 2021; Steele et al. 2022; Haas et al. 2022). Other studies have estimated the effects of vaccination campaign in multiple countries. However, these studies do not study the real-world effectiveness of the COVID-19 vaccination campaign, but instead use mathematical models to extrapolate the evidence from clinical trials to real world settings (He et al. 2022; Watson et al. 2022). As discussed before, evidence from clinical trials in unlikely to generalize to real world settings and clinical trials were under powered to detect effects on all-cause mortality. To our knowledge, no

studies have examined the real-world impacts of COVID-19 vaccination campaign in multiple countries on all-cause mortality using observational data.

In this paper, we examine the real-world effectiveness of the global COVID-19 vaccination campaign on all-cause mortality, which accounts for both direct and indirect effects of the COVID-19 vaccines. Furthermore, because recorded COVID-19 deaths could be incorrectly reported, allcause mortality is a better measure to estimate the total benefit of COVID-19 vaccines on mortality. Our model allows for long-lived protection from deaths due to vaccination, but with waning effectiveness of vaccines overtime. Similarly, the model allows for diminishing marginal benefit from vaccines with increase in population fully vaccinated. This adjustment accounts for the fact that, in most countries, the elderly, who have much higher mortality from COVID-19 were vaccinated prior to younger populations. The global distribution of vaccines has been uneven with higher income countries having earlier access to vaccines (Deb et al. 2023). Therefore, we also examine the potential impact of a more equitable counterfactual distribution of vaccines across countries, where vaccination in each country is proportional to its population.

To examine these questions, we use event studies and two-way fixed effects models to estimate the effects of COVID-19 vaccines on all-cause mortality. Using weekly data on the share of population fully vaccinated and weekly excess deaths from March 2, 2020 to August 29, 2021, we find that the COVID-19 vaccination campaign led to a large reduction in excess deaths. Because the availability of weekly data on excess deaths is restricted to a limited number of countries, our primary estimation is conducted using a sample of 43 countries. We find that at the beginning of vaccination, a 1-percentage point increase in vaccination rates leads to a 0.000453-unit reduction in weekly excess deaths per 100 population. Due to declining marginal effectiveness, the marginal impact of COVID-19 vaccination on excess deaths at 80 percent vaccination rate is approximately 1/10th the marginal impact at the beginning of vaccine rollout. These findings are robust to several specifications and functional forms.

To place these results in a global context, we use the estimated effects from our main specification and vaccination data from 141 countries with a combined population of 5.25 billion people to calculate the global number of deaths averted due to the vaccination campaign. We find that vaccines averted approximately 2.36 million excess deaths by August 2021. To estimate the value of this large mortality reduction, we use country and region-specific estimates of the value of a statistical life (VSL). Using these VSL estimates, we calculate that mortality reductions due to the first 8 months of the global COVID-19 vaccination campaign were valued at \$6.5 trillion, which is approximately equal to 9% of the combined GDP of these 141 countries.

While our estimates show a large benefit from the global COVID-19 vaccination campaign, the impacts of other vaccine distribution strategies are not known. We estimate the hypothetical impacts of an alternative, more equitable counterfactual distribution of vaccine, where countries received vaccines proportional to their population. We did so because vaccine distribution was inequitable, with higher income countries gaining access to vaccines much faster than lower income countries (Katz et al. 2021; Hyder et al. 2021; UN News 2021), despite efforts by the WHO, UNICEF and GAVI to accelerate vaccine distribution in low income countries through the COVAX initiative (*Time* 2021). Due to diminishing marginal health benefits of vaccination, redistributing vaccines from countries with high vaccination rates to countries with low vaccination rates can increase the number of deaths averted. We estimate that with equitable distribution among the 141 countries, the global COVID-19 vaccination campaign would have averted 3.03 million excess deaths by August 2021, but with an economic value of approximately \$4.69 trillion. Therefore, relative to the status-quo, we estimate that an additional 670,000 lives

would have been saved, but with a \$1.8 trillion decrease in the total economic value of deaths averted.

This paper contributes to the growing literature on the benefits of the global COVID-19 vaccination campaign in several ways. To the best of our knowledge, this is the first study that estimates the effect of COVID-19 vaccines on the global all-cause mortality using observational data. Second, unlike existing studies, this study considers the waning effect of vaccines instead of assuming a constant effectiveness of vaccines over time. Finally, following the WHO suggestion on equitable distribution of vaccines ("Fair Allocation Mechanism for COVID-19 Vaccines through the COVAX Facility" 2020), the study estimates the benefits of COVID-19 vaccination in a counterfactual scenario, where vaccines are distributed equitably among 141 countries proportional to their population.

The rest of the paper proceeds as follows. We start with data on deaths and vaccination in section 2, followed by our empirical strategy in section 3. We present our results and estimates of global lives saved in sections 4 and 5, respectively. Finally, we discuss our results, limitations, and implications for vaccine distribution policy.

2. DATA

2.1. Excess Deaths and COVID-19 Deaths Data

To estimate the effects of the global COVID-19 vaccination campaign on all-cause mortality, we use weekly excess deaths and weekly COVID-19 deaths data for 43 countries from The Economist COVID-19 excess deaths tracker GitHub ("The Economist, 2020. Tracking Covid-19 Excess Deaths across Countries" 2023) (Appendix Table A1). Because our analysis is focused on the first 8 months of the vaccination campaign, we use data from March 2, 2020 to August 29,

2021. We standardized weekly excess deaths based on each country's population to create our primary outcome variable, "excess deaths per 100 population". The population data for all 43 countries comes from the same Economist dataset. The Economist's model calculates weekly excess deaths within a specific country and timeframe by comparing total deaths during the pandemic with the projected number of deaths in that country and timeframe using historical data. We use excess deaths as our primary outcome because it overcomes several limitations associated with the COVID-19 death data. First, several countries count COVID-19 deaths conditional on prior positive test, which could be substantially influenced by the testing capacity. Second, as discussed earlier, it considers both direct and indirect impacts of the pandemic, such as delayed preventative care, economic hardship, impact on mental health due to social isolation, etc.

2.2. COVID-19 Vaccine Data

COVID-19 vaccination data is sourced from Our World In Data (OWID) (Mathieu et al. 2020). For each country, the dataset provides the cumulative number of individuals who have completed the initial vaccination protocol by a given day. We use these data to estimate the number of new people vaccinated in each week, from March 2020 to August 2021, within a specific country.

A notable feature of COVID-19 vaccinations is their waning effectiveness over time. As a result, vaccines administered several months earlier have less protective effect compared to more recently administered vaccines. To account for this waning effectiveness, we created a new variable – *Vaccine Stock* – as our primary explanatory variable. This variable accounts for the vaccination history in prior weeks and incorporates the waning effect of vaccines.

To calculate *Vaccine Stock*, we did the following. First, we depreciated the number of newly vaccinated individual for every week at the weekly rate of 0.03, until the end of August 2021. Based on the existing studies on waning effectiveness of COVID-19 vaccines, we calculated the

depreciation rate by reducing the effectiveness of vaccines to half over a 24 week period (Tartof et al. 2021; Eyre et al. 2022; Menni et al. 2022; Ferdinands 2022). Next, for each week, we aggregated the depreciated number of newly vaccinated individuals from the beginning of the vaccination campaign until 2 weeks prior to a given week. The two-week delay accounts for the fact that vaccines take two weeks to achieve their protective effect. Lastly, we standardized this variable per 100 population, which is called *Vaccine Stock*_{it} and is the primary explanatory variable in our study.

$$Vaccine Stock_{it} = \frac{\sum_{week=0}^{t-2} Depreciated(Number of newly vaccinated people)i}{(Population)i} * 100$$
(1)

3. ESTIMATION APPROACH

3.1. Effects of COVID-19 Vaccines on Deaths – Sun Abraham Event Study

To examine the effect of the global COVID-19 vaccination campaign on all-cause mortality, we begin by descriptively plotting cumulative excess deaths per 100,000 people against percentage people fully vaccinated with COVID-19 vaccines for the 43 countries from March 2020 to August 2021 (Appendix Figure A1). We observe a decline in the rate of excess deaths after the start of vaccinations, which suggests a negative association between vaccines and all-cause mortality. However, this association could be confounded by other secular trends such as less lethal COVID-19 variants becoming dominant in the post vaccination period.

To account for secular trends, we next evaluate the association between the share of people fully vaccinated in a given country and cumulative deaths in that country in the post vaccination period (Figure 1, Panel A). We find an inverse relationship between the fraction of population fully vaccinated in the first 8 months of the campaign and excess deaths in the post-vaccination period. Next, we evaluated whether the successful distribution of vaccines was correlated with excess mortality prior to the vaccination campaign. We find that countries that suffered fewer excess deaths before the availability of vaccines were more successful in vaccinating a larger share of their population (Figure 1, Panel B). Given the protective effect of vaccines, this finding suggests that the vaccination campaign exacerbated the disparities in excess deaths rates among countries. This finding could be attributed to the possibility that richer countries with better healthcare infrastructure were better able to prevent deaths during the pre-vaccination period and these countries also were able to vaccinate a larger fraction of their population in the post vaccination period. Lastly, we evaluated the association between the change in excess deaths from the prevaccination period to post vaccination period and the share of population fully vaccinated. We expected larger reductions in deaths among countries that achieved higher vaccination rates. Consistent with our hypothesis, we find that a 1-percentage point increase in cumulative vaccination rate in 2021 is associated with a decrease of 1.56 excess deaths per 100,000 people in the post vaccination period (Figure 1, Panel C). Although these findings are suggestive of a protective effect of vaccines, they could be confounded by country specific time trends. That is, the above model implicitly assumes that trends in excess deaths in each country would be identical in the absence of vaccination.

To account for country specific time trends, we begin with an event study approach to estimate the dynamic effect of staggered distribution of COVID-19 vaccines on excess deaths per 100 population. Because COVID-19 vaccines were distributed at different times in different countries and the rate of vaccination varied across countries, there is likely heterogeneity in treatment effects. This heterogeneity in treatment raises concern about the validity of two-way fixed effects models because it violates the treatment effect homogeneity assumption (Goodman-Bacon 2021; Weill et al. 2021). As a solution, we apply the 3-step dynamic treatment effect approach outlined by Sun and Abraham (2020). For each event study, we estimated a regression model of the form below:

$$Y_{it} = \alpha + \sum_{\substack{l=-20\\l\neq -1}}^{20} \beta_l \, 1\{t - E_i = l\} + \gamma_i + \delta_t + \varepsilon_{it}$$
(1)

In this model, the outcome of interest, Y_{it} , represents excess deaths per 100 population for country *i* in week *t*. The 1{ $t - E_i = l$ } terms are indicator variables for leads and lags relative to start of vaccination campaign at time E_i in a given country. In our analysis, we denoted the first week in which *Vaccine Stock* exceeded 5% as the start of the vaccination campaign in that country.¹ Negative *l* represent the pre-treatment periods, while positive *l* represent the posttreatment periods. The first lead period (l = -1) is chosen as the baseline period; hence it is omitted from the model specification (Sun and Abraham 2020). γ_i and δ_t are country and week fixed effects, respectively, and ε_{it} is the error term. We cluster standard errors at the country level. As all countries in our analysis administered COVID-19 vaccines, our primary identification of the β_t Treatment effects come from the staggered distribution of COVID-19 vaccines across countries. The coefficients on the leads help us identify any pre-existing differences in time trends between the treatment countries that launched the vaccination campaign and the control countries that had to yet launch a campaign.

3.2. Effects of COVID-19 Vaccines on Deaths – TWFE Regression

The event study approach can measure the dynamic effects of launching a COVID-19 campaign but does not allow us to estimate the marginal effect of vaccinating a higher fraction of

¹ By the end of March 2021, the average share of population fully vaccinated among 43 countries in our analysis was approximately 5 percent.

population on excess deaths. To examine the marginal benefit of COVID-19 vaccination on excess deaths, we estimate two-way fixed effects OLS regressions. We start with a naïve model that assumes a linear relationship between our outcome variable – weekly excess deaths per 100 population, and the primary explanatory variable – *Vaccine Stock_{it}*. We control for time-invariant country specific characteristics and common time trend using country and week fixed effects. This model is limited because it assumes that the marginal benefit of vaccination is constant, and it also assumes that time trends do not vary by country.

In our next set of models, we relax these assumptions. It is likely that the marginal benefit of vaccination is declining with a higher fraction of the population vaccinated because vaccination campaigns typically gave priority to individuals at high-risk, and a greater share of fully vaccinated population has the effect of lowering disease transmission through herd immunity. To account for declining marginal benefit of vaccination we implement two different specifications. The first specification models excess deaths as a function of *Vaccine Stock_{it}* and *Vaccine Stock_{it}*- squared. This quadratic model allows for diminishing marginal benefit of vaccination but in this model the marginal benefit of vaccination could be negative. A negative marginal benefit would imply that after a certain threshold vaccinating more people will increase excess deaths which is unlikely given that the vaccines have been shown to be safe in clinical trials (See Appendix Figure A2, Panel A). The second specification models excess deaths as a function of the square root of *Vaccine Stock*. This is our preferred specification because it accounts for diminishing marginal benefits of vaccination for diminishing marginal benefits of vaccine Stock. This is our preferred specification because it accounts for diminishing marginal benefits of vaccination of *Vaccine Stock*. This is our preferred specification because it accounts for diminishing marginal benefits of vaccination, but the marginal benefits of vaccination are always positive (See Appendix Figure A2, Panel B).

Lastly, we relax the common time trend assumption, as the trajectory of excess deaths could be different in different countries due to different trajectory of COVID-19 variants or differences in COVID-19 mitigation policies. We allow for country specific quadratic time trends in our main specification:

Weekly Excess Deaths per
$$100_{it} = \alpha_0 + \alpha_1 \sqrt{VaccineStock_{it}} + \gamma_i + \gamma_i * \tau_t + \gamma_i * \tau_t^2 + u_{it}$$
 (2)

In our main specification, weekly excess deaths per 100 population is the primary outcome of interest and $\sqrt{VaccineStock_{it}}$ represents the primary regressor. Additionally, we include country (γ_i) fixed effects, and country specific quadratic time trends $-(\gamma_i * \tau_t) + (\gamma_i * \tau_t^2)$. Standard errors are clustered at the country level.

4. RESULTS

4.1. Sun Abraham Event Study Results

Figure 2 shows the trend of excess deaths per 100 population before and after the start of the COVID-19 vaccination campaign. We find a significant decrease in excess deaths after the start of the COVID-19 vaccination campaign with the protective effect increasing over time. We also find no evidence of difference in time trends in the pre-treatment period – all coefficients on leads are statistically insignificant. On average, across the 20 weeks following the start of vaccination campaign, we observe a decrease of 0.00234 per 100 population in weekly excess deaths.

4.2. TWFE Regression Results

Table 1, Panel A presents the results from the TWFE models. Column 1 displays the estimates from the linear specification, which shows a negative but insignificant relationship between weekly *Vaccine Stock* and weekly excess deaths. Column 2 displays the estimates from the quadratic specification, and column 3 displays the results from quadratic specification but with

country specific quadratic time trends. In both quadratic models, Vaccine Stock has a negative and significant effect on excess deaths, however, the marginal effect of Vaccine Stock on excess deaths decreases as the share of population fully vaccinated increases. Notably, in the column 3 specification, we observe that the marginal benefit of weekly Vaccine Stock becomes negative after 30 percent of the population is fully vaccinated (See Appendix Figure A2, Panel A). Lastly, column 4 displays the estimates of our preferred specification, where weekly deaths per 100 population is regressed on square root of *Vaccine Stock*, while controlling for country fixed effects and country specific quadratic time trend. We find that a 1 percent point increase in Vaccine Stock is associated with a $\frac{0.000906}{2*(\sqrt{Vaccine Stock})}$ unit reduction in weekly excess deaths per 100 population. These findings show that COVID-19 vaccination had significant effect in reducing excess deaths during the pandemic. However, it is important to note that the marginal benefit of COVID-19 vaccine decreases with increase in the vaccination rate, but it always stays positive, unlike the quadratic relationship (See Appendix Figure A2, Panel B). We find that at the beginning of vaccination, a 1-percentage point increase in vaccination rate leads to a 0.000453-unit reduction in weekly excess deaths per 100 population. The marginal impact of COVID-19 vaccination on excess deaths at 80 percent vaccination rate is approximately 1/10th the marginal impact at the beginning of the vaccination campaign.

Figure 3 juxtaposes estimates from the above model with actual data to illustrate our identification strategy. It shows the actual number of deaths (solid blue line) in the pre and post vaccination periods across the 43 countries and the predicted number of deaths (dotted blue line) under status-quo based on the regression coefficients from the model and data on vaccinations in each country. Finally, it shows the predicted number of deaths implied by our model in the counterfactual scenario that vaccinations in each country were zero. The difference between the

predicted deaths in the counterfactual scenario with no vaccinations and predicted deaths under status-quo with vaccinations identifies the effects of the global vaccination campaign on deaths averted. There are several points to note in Figure 3. First, the model does a good job of predicting level and trends in excess deaths in the pre-vaccination period. Second, the counterfactual deaths in the no vaccine scenario extends this pre-existing quadratic trend to the post vaccination period. Third, the model does a good job of predicting excess deaths in post vaccination period. These facts not only hold in the aggregate across 43 countries, but also hold in country-by-country analysis presented in Appendix figure A6 for the top 10 countries that account for approximately 80 percent of lives saved among these 43 countries. Take together these facts give us confidence that our model does a reasonable job of estimating deaths with and without vaccinations which is key to identifying the causal effects of vaccines on excess deaths.

Finally, we also estimated the effect of *Vaccine Stock* on weekly COVID-19 deaths per 100 population using the same specifications as for excess deaths (Table 1, Panel B). The results are qualitatively similar.

4.3. Robustness Test

Using our preferred model specification, we examine whether the marginal effect of COVID-19 vaccination remain consistent for both the depreciated and undepreciated vaccination variable. We regress weekly excess deaths per 100 population on cumulative share of population fully vaccinated two weeks prior to a specific week. We find that a 1 percentage point increase in weekly vaccination rate (without accounting for depreciation) is associated with a $\frac{0.000886}{2*(\sqrt{Vaccination Rate})}$ unit reduction in weekly excess deaths per 100 population. The estimated effect of unadjusted vaccination variable on weekly excess deaths per 100 population is consistent with the findings from our primary specification in Column 4 of Table 1.

4.4. Effects of Vaccines on Excess Deaths Across 43 Countries

We use the marginal benefit estimates from our preferred model to calculate the total lives saved by COVID-19 vaccination from January 2021 to August 2021 across the 43 countries that are included in our regression analysis. As explained before, we followed the following steps. First, we used our preferred model specification to predict weekly excess deaths for each of the 43 countries, both in scenarios with and without the vaccination campaign. Next, we calculated the cumulative number of excess deaths across the 43 countries by the end of August 2021 in these two scenarios. The difference between the cumulative excess deaths in these two scenarios suggests that vaccines averted approximately 1.14 million excess deaths across these 43 countries in the first 8 months of the vaccination campaign (Figure 3), which is an approximately 26 percent reduction in deaths compared to the counterfactual scenario without the global vaccination campaign.

5. LIVES SAVED WORLDWIDE

Our main regression models include the 43 countries that have reliable weekly data on both COVID-19 vaccination and all-cause mortality. Nevertheless, the effects of the global COVID vaccination campaign among a broader set of countries remain unclear. To estimate the global effect, we extrapolate our findings from the main regression model to a broader set of 141 countries that have reliable vaccination data but lack reliable mortality data. These countries collectively have a combined population of 5.25 billion. This data limitation restricts their inclusion in our regression analysis. China is absent for both datasets, due to inconsistent vaccination and mortality reporting. Details on these countries and their vaccination data are outlined in Appendix Section 9.1 and Table A3.

Using the estimates from our preferred specification, we estimate the number of lives saved for each week in each of the 141 countries until August 2021, as outlined above. Appendix Table A3 presents the number of lives saved by the vaccination campaign in each of the 141 countries during the first 8 month of the vaccine distribution. Among these 141 countries, the global COVID-19 vaccination campaign saved 2.36 million lives by August 2021. In terms of absolute numbers, India and United States are the largest beneficiaries, with 451,778 and 429,486 lives saved, respectively. Together, they account for 37 percent of the total lives saved in these 141 countries.

To test the robustness of our findings we also used the results from the event study model to estimate the deaths averted by the global COVID-19 vaccination campaign. As noted before, the event study implies that the global COVID-19 vaccination campaign averted on average 2.34 deaths per week per 100,000 population. Given that the total population of the countries included in the study is 5.25 billion, it implies that the campaign averted roughly 123,000 deaths each week. Therefore, the number of deaths averted in the first 20 weeks of the campaign (from March to August 2021) is about 2.46 million. Hence, both the event study and our preferred model specification imply similar benefits of the global vaccination campaign.

5.1. Value of COVID-19 Vaccination

To provide an economic value of these large mortality reductions due to the global COVID-19 vaccination campaign, we calculated the value of lives saved using country and region-specific estimates of the value of statistical life (VSL) (Sweis 2022). Countries with missing VSL estimates are assigned the average VSL estimate of their respective region.² The VSL estimates range from

² Regions: East Asia & Pacific, Europe & Central Asia, Latin America & Caribbean, Middle East & North Africa, North America, South Asia, and Sub-Saharan Africa.

\$0.06 million in Afghanistan to \$9.4 million in Switzerland. The VSL estimate of an average American is \$7.2 million compared to the world VSL estimate of \$1.3 million.

We find that the first 8 months of the global COVID-19 vaccination campaign saved 2.36 million excess deaths valued at \$6.50 trillion (Appendix Table A3). In terms of value of deaths averted, United States is the largest beneficiary of the vaccination campaign in the initial 8 months, with value of deaths averted being \$3.09 trillion. This constitutes roughly 48 percent of the total value of lives saved in these 141 countries, even though the number of deaths averted in the US is 18 percent of the worldwide deaths averted. This substantially large value of deaths averted for the United States is attributable to a combination of three factors – a high rate of vaccination, a sizeable population, and a high value of statistical life. For example, although, the number of lives saved in India and the Unites States are approximately similar, with 451,778 and 429,486 lives, respectively, the economic benefits vary significantly. In contrast to the United States, in India, vaccines averted deaths valued at approximately \$90 billion, accounting for just 1.4 percent of the total value of statistical lives saved among these 141 countries.

5.2. Global Impacts of Equitable Distribution Strategy

Finally, we estimated the impact of the global COVID-19 vaccination campaign for a counterfactual scenario where the weekly number of vaccines were distributed equitably among 141 countries proportional to their population. We conducted this analysis for two primary reasons. First, vaccine distribution under the current market-based approach has been inequitable, with high-income countries having more immediate access compared to low and middle-income countries (Katz et al. 2021; Hyder et al. 2021; *UN News* 2021), despite efforts by the WHO, UNICEF and GAVI to accelerate vaccine distribution in low income countries through the COVAX initiative (*Time* 2021). We find that high-income countries were quicker to launch their

vaccination campaigns (Appendix Figure A3) and were also able to fully vaccinate a larger share of their population by August 2021 (Appendix Figures A4 and A5). Second, our regression findings indicate that the marginal benefit of vaccines decreases as the share of population that is fully vaccinated increases. As a result, we expect that the total benefit of COVID-19 vaccination campaign in averting deaths would likely have been larger if more vaccines had been provided to countries with a smaller share of fully vaccinated population.

To examine the impact of a more equitable distribution of COVID-19 vaccines among the 141 countries, we allocated the weekly supply of vaccines to each country in proportion to their population. Because each country gets a share of total weekly vaccines corresponding to its population percentage, the weekly vaccination rate was the same in each country in this counterfactual equitable distribution scenario (Appendix Table A2). Importantly, in this equitable distribution scenario, the overall global vaccine supply per week does not change; the only change is how the existing vaccine supply is distributed among countries.

Using the estimates from our preferred specification, we estimate that with equitable distribution of vaccines among the 141 countries, the global COVID-19 vaccination campaign would have averted 3.03 million excess deaths by August 2021 valued at \$4.7 trillion. These findings suggest that relative to the status-quo, an equitable distribution would have saved roughly 670,000 more lives, but with a \$1.8 trillion decrease in the value of deaths averted.

Finally, to provide a perspective on how the redistribution of vaccines would have impacted these 141 countries, Figures 4 and 5 visually display the geographical shift in the number of lives saved, and percentage change in lives saved between the equitable distribution and the current distribution strategies, respectively. These figures show a decrease in the number of lives saved in high-income countries and a corresponding increase in lives saved in low-and-middle income countries. Moreover, it is important to note that the gain in lives saved for low-and-middle countries is larger than the decline in benefit for high-income countries. In addition, Figures 6 and 7 show the absolute and percentage change in the value of lives saved between the equitable distribution and the current distribution strategies across these 141 countries, respectively. We find that the decrease in value of lives saved in high-income countries is larger than the increase in value of lives saved for low-and-middle income countries. This difference is primarily reflected due to significantly higher value of a statistical life in high-income countries compared to low-and-middle income countries.

6. **DISCUSSION**

While clinical trials show that COVID-19 vaccines are safe and effective, the real-world effectiveness of the global COVID-19 vaccination campaign on all-cause mortality is not well understood. This study addresses the gap in the literature in three key ways. First, we find that COVID-19 vaccines have a significant effect in preventing all-cause mortality in the first 8 months of the global COVID-19 vaccination campaign. We estimate that the vaccination campaign in 141 countries averted approximately 2.36 million excess deaths from January 2021 to August 2021. Using country and region-specific VSL estimates, we calculated that mortality reductions due to the first 8 months of the vaccination campaign were valued at \$6.5 trillion, which is approximately equal to 9 percent of the combined GDP of these 141 countries. Second, due to the decreasing marginal benefit of vaccines and the existing inequitable global distribution of COVID-19 vaccines, we examine the effects of an equitable counterfactual distribution strategy, in which countries receive the weekly vaccine supply in proportion to their population. We find that an equitable distribution of vaccines would have saved roughly 670,000 more lives, but with a reduction of \$1.8 trillion in the value of deaths averted due to redistribution of vaccines from high-

income to low-income countries. Lastly, among 43 countries included in our empirical model, the vaccination campaign saved 1.14 million lives – a 26 percent reduction in excess deaths compared to the scenario without vaccination. It is worth noting that this estimated 26 percent reduction in excess mortality is consistent with clinical trial evidence on vaccine effectiveness. In particular, several studies based on clinical trials as well as vaccine registry data from single countries suggest that vaccines reduced COVID-19 hospitalizations or mortality conditional on infections by about 80 to 90 percent (Wu et al. 2023). Combining these estimates of vaccine effectiveness with estimates of the fraction of population infected during the first 8 months of the vaccine program and all cause mortality rates of infected and uninfected populations yields a 23 to 26 percent reduction in all-cause mortality.³ This estimate is very similar to our estimated finding of 26 percent reduction in excess deaths.

This study has several limitations. First, the Economist excess deaths model provides complete weekly excess deaths data for 43 countries. Consequently, while we estimate the impact of the global COVID-19 vaccination campaign for 141 countries, we used only 43 countries in our empirical model to estimate the effect of weekly vaccination rate on weekly excess death rate. Notably, our study does not include China due to the lack of reliable data. Second, the study relies on a quasi-experimental design that exploits the staggered rollout of vaccines. We do not observe deaths in the counterfactual scenario in which these countries did not implement COVID-19 vaccination campaign. We predict these counterfactual deaths with no vaccines using country

³ The percent reduction in mortality due to vaccination can be expressed as: $\frac{ve*w_I*m_I}{w_I*m_I+(1-w_I)*m_{UI}}$, where *ve* is vaccine effectiveness, w_I is fraction infected in the first eight months of vaccination, m_I is all cause mortality rate among infected and m_{UI} is all cause mortality rate among uninfected. Prior research suggests that w_I is about 22 percent (Barber et al. 2022). Data from OWID on all-cause deaths in 2019 suggests that m_{UI} is about 0.75 percent. Combining these data with 20 percent global population infected in 2020 (Barber et al. 2022) and OWID all-cause mortality rate of 0.85 percent in 2020 suggests that m_I is 1.1 percent. These estimates combined with *ve* in the range of 80 to 90 percent imply a mortality reduction of 23 to 26 percent.

specific quadratic time trends or using an event study approach. However, we cannot test whether our predictions are accurate, and it is possible that the estimates are biased due to confounding by unobservable factors. It is important to note that both approaches - event studies and country specific quadratic time trends - give similar estimates suggesting that our results are not sensitive to the identifying assumptions implicit in different models. Third, in our analysis, we did not account for the different type of vaccines administered in different countries.

Despite these limitations, our study contributes to the existing literature on the benefits of the global COVID-19 vaccination campaign. To the best of our knowledge, our study is the first attempt to estimate the impact of the global COVID-19 vaccination campaign on all-cause mortality using observational data. We find that the vaccination campaign across 141 countries prevented approximately 2.36 million excess deaths from January 2021 to August 2021, valued at \$6.5 trillion. These findings suggest that pharmaceutical interventions in the form of vaccination and therapeutics have a much larger protective effect on mortality compared to nonpharmaceutical interventions (NPIs) such as shelter-in-place policies (Agrawal et al. 2023). Furthermore, our study adds to the literature on the most effective distribution strategy for "essential medicines" during a global public health crisis. We find that the number of lives saved would have been much higher if vaccines were distributed more equitably. However, the value of deaths averted is smaller as a more equitable distribution involves redistribution of vaccines from high income to low-income countries. These findings leave us with an unanswered question at the intersection of economics and public health: should we seek to maximize the number of lives saved or maximize the economic value of lives saved? We leave answering this question as an important future endeavor for ethicists and economists.

7. REFERENCES

- Agrawal, Virat, Jonathan Cantor, Neeraj Sood, and Christopher Whaley. 2021. "The Impact of the COVID-19 Vaccine Distribution on Mental Health Outcomes." w29593. Cambridge, MA: National Bureau of Economic Research. https://doi.org/10.3386/w29593.
 ——. 2023. "The Impact of COVID-19 Shelter-in-place Policy Responses on Excess Mortality." *Health Economics*, July, hec.4737. https://doi.org/10.1002/hec.4737.
- Agrawal, Virat, Neeraj Sood, and Christopher Whaley. 2022. "The Ex-Ante Moral Hazard Effects of COVID-19 Vaccines." w30602. Cambridge, MA: National Bureau of Economic Research. https://doi.org/10.3386/w30602.
- Baden, Lindsey R., Hana M. El Sahly, Brandon Essink, Karen Kotloff, Sharon Frey, Rick Novak, David Diemert, et al. 2021. "Efficacy and Safety of the mRNA-1273 SARS-CoV-2 Vaccine." *New England Journal of Medicine* 384 (5): 403–16. https://doi.org/10.1056/NEJMoa2035389.
- Barber, Ryan M., Reed J. D. Sorensen, David M. Pigott, Catherine Bisignano, Austin Carter, Joanne O. Amlag, James K. Collins, et al. 2022. "Estimating Global, Regional, and National Daily and Cumulative Infections with SARS-CoV-2 through Nov 14, 2021: A Statistical Analysis." *The Lancet* 399 (10344): 2351–80. https://doi.org/10.1016/S0140-6736(22)00484-6.
- Breslau, Joshua, Melissa L. Finucane, Alicia R. Locker, Matthew D. Baird, Elizabeth A. Roth, and Rebecca L. Collins. 2021. "A Longitudinal Study of Psychological Distress in the United States before and during the COVID-19 Pandemic." *Preventive Medicine* 143 (February): 106362. https://doi.org/10.1016/j.ypmed.2020.106362.
- Cantor, Jonathan, Neeraj Sood, Dena M. Bravata, Megan Pera, and Christopher Whaley. 2022.
 "The Impact of the COVID-19 Pandemic and Policy Response on Health Care Utilization: Evidence from County-Level Medical Claims and Cellphone Data." *Journal* of Health Economics 82 (March): 102581. https://doi.org/10.1016/j.jhealeco.2022.102581.
- Chetty, Raj, John Friedman, Nathaniel Hendren, Michael Stepner, and The Opportunity Insights Team. 2020. "The Economic Impacts of COVID-19: Evidence from a New Public Database Built Using Private Sector Data." w27431. Cambridge, MA: National Bureau of Economic Research. https://doi.org/10.3386/w27431.
- Clarke, Damian, and Kathya Tapia Schythe. 2021. "Implementing the Panel Event Study." *SAGE Publications* 21 (4): 853–84. https://doi.org/10.1177/1536867X211063144.
- Cutler, David M., and Lawrence H. Summers. 2020. "The COVID-19 Pandemic and the \$16 Trillion Virus." JAMA 324 (15): 1495–96. https://doi.org/10.1001/jama.2020.19759.
- Deb, Pragyan, Davide Furceri, Daniel Jimenez, Siddharth Kothari, Jonathan D. Ostry, and Nour Tawk. 2022. "The Effects of COVID-19 Vaccines on Economic Activity." Swiss Journal of Economics and Statistics 158 (1): 3. https://doi.org/10.1186/s41937-021-00082-0.
- . 2023. "Determinants of COVID-19 Vaccine Rollouts and Their Effects on Health Outcomes." *Applied Health Economics and Health Policy* 21 (1): 71–89. https://doi.org/10.1007/s40258-022-00757-6.
- Díaz, F., P. A. Henríquez, N. Hardy, and D. Ponce. 2023. "Population Well-Being and the COVID-19 Vaccination Program in Chile: Evidence from Google Trends." *Public Health* 219 (June): 22–30. https://doi.org/10.1016/j.puhe.2023.03.007.

- Ettman, Catherine K., Salma M. Abdalla, Gregory H. Cohen, Laura Sampson, Patrick M. Vivier, and Sandro Galea. 2020. "Prevalence of Depression Symptoms in US Adults Before and During the COVID-19 Pandemic." *JAMA Network Open* 3 (9): e2019686. https://doi.org/10.1001/jamanetworkopen.2020.19686.
- Eyre, David W., Donald Taylor, Mark Purver, David Chapman, Tom Fowler, Koen B. Pouwels, A. Sarah Walker, and Tim E.A. Peto. 2022. "Effect of Covid-19 Vaccination on Transmission of Alpha and Delta Variants." *New England Journal of Medicine* 386 (8): 744–56. https://doi.org/10.1056/NEJMoa2116597.
- Ferdinands, Jill M. 2022. "Waning 2-Dose and 3-Dose Effectiveness of mRNA Vaccines Against COVID-19–Associated Emergency Department and Urgent Care Encounters and Hospitalizations Among Adults During Periods of Delta and Omicron Variant Predominance — VISION Network, 10 States, August 2021–January 2022." MMWR. Morbidity and Mortality Weekly Report 71. https://doi.org/10.15585/mmwr.mm7107e2.
- Goodman-Bacon, Andrew. 2021. "Difference-in-Differences with Variation in Treatment Timing." *Journal of Econometrics*, June. https://doi.org/10.1016/j.jeconom.2021.03.014.
- Gupta, Sumedha, Jonathan Cantor, Kosali I. Simon, Ana I. Bento, Coady Wing, and Christopher M. Whaley. 2021. "Vaccinations Against COVID-19 May Have Averted Up To 140,000 Deaths In The United States." *Health Affairs* 40 (9): 1465–72. https://doi.org/10.1377/hlthaff.2021.00619.
- Haas, Eric J, John M McLaughlin, Farid Khan, Frederick J Angulo, Emilia Anis, Marc Lipsitch, Shepherd R Singer, et al. 2022. "Infections, Hospitalisations, and Deaths Averted via a Nationwide Vaccination Campaign Using the Pfizer–BioNTech BNT162b2 mRNA COVID-19 Vaccine in Israel: A Retrospective Surveillance Study." *The Lancet Infectious Diseases* 22 (3): 357–66. https://doi.org/10.1016/S1473-3099(21)00566-1.
- He, Daihai, Sheikh Taslim Ali, Guihong Fan, Daozhou Gao, Haitao Song, Yijun Lou, Shi Zhao, Benjamin J. Cowling, and Lewi Stone. 2022. "Evaluation of Effectiveness of Global COVID-19 Vaccination Campaign." *Emerging Infectious Diseases* 28 (9): 1873–76. https://doi.org/10.3201/eid2809.212226.
- Hyder, Adnan A, Maryam A Hyder, Khurram Nasir, and Paul Ndebele. 2021. "Inequitable COVID-19 Vaccine Distribution and Its Effects." *Bulletin of the World Health Organization* 99 (6): 406-406A. https://doi.org/10.2471/BLT.21.285616.
- Katella, Kathy. 2023. "Omicron, Delta, Alpha, and More: What To Know About the Coronavirus Variants." Yale Medicine. February 3, 2023. https://www.yalemedicine.org/news/covid-19-variants-of-concern-omicron.
- Katz, Ingrid T., Rebecca Weintraub, Linda-Gail Bekker, and Allan M. Brandt. 2021. "From Vaccine Nationalism to Vaccine Equity — Finding a Path Forward." *New England Journal of Medicine* 384 (14): 1281–83. https://doi.org/10.1056/NEJMp2103614.
- Kwok, Kin On, Kin-Kit Li, Wan In Wei, Arthur Tang, Samuel Yeung Shan Wong, and Shui Shan Lee. 2021. "Influenza Vaccine Uptake, COVID-19 Vaccination Intention and Vaccine Hesitancy among Nurses: A Survey." *International Journal of Nursing Studies* 114 (February): 103854. https://doi.org/10.1016/j.ijnurstu.2020.103854.
- Mathieu, Edouard, Hannah Ritchie, Lucas Rodés-Guirao, Cameron Appel, Charlie Giattino, Joe Hasell, Bobbie Macdonald, et al. 2020. "Coronavirus Pandemic (COVID-19)." Our World in Data. March 5, 2020. https://ourworldindata.org/covid-vaccinations.
- Menni, Cristina, Anna May, Lorenzo Polidori, Panayiotis Louca, Jonathan Wolf, Joan Capdevila, Christina Hu, et al. 2022. "COVID-19 Vaccine Waning and Effectiveness and Side-

Effects of Boosters: A Prospective Community Study from the ZOE COVID Study." *The Lancet Infectious Diseases* 22 (7): 1002–10. https://doi.org/10.1016/S1473-3099(22)00146-3.

- Polack, Fernando P., Stephen J. Thomas, Nicholas Kitchin, Judith Absalon, Alejandra Gurtman, Stephen Lockhart, John L. Perez, et al. 2020. "Safety and Efficacy of the BNT162b2 mRNA Covid-19 Vaccine." *New England Journal of Medicine* 383 (27): 2603–15. https://doi.org/10.1056/NEJMoa2034577.
- Qiu, Richard T. R., Jinah Park, ShiNa Li, and Haiyan Song. 2020. "Social Costs of Tourism during the COVID-19 Pandemic." *Annals of Tourism Research* 84 (September): 102994. https://doi.org/10.1016/j.annals.2020.102994.
- Raviv, Tali, Christopher M. Warren, Jason J. Washburn, Madeleine K. Kanaley, Liga Eihentale, Hayley Jane Goldenthal, Jaclyn Russo, et al. 2021. "Caregiver Perceptions of Children's Psychological Well-Being During the COVID-19 Pandemic." *JAMA Network Open* 4 (4): e2111103. https://doi.org/10.1001/jamanetworkopen.2021.11103.
- Steele, Molly K., Alexia Couture, Carrie Reed, Danielle Iuliano, Michael Whitaker, Hannah Fast, Aron J. Hall, et al. 2022. "Estimated Number of COVID-19 Infections, Hospitalizations, and Deaths Prevented Among Vaccinated Persons in the US, December 2020 to September 2021." JAMA Network Open 5 (7): e2220385. https://doi.org/10.1001/jamanetworkopen.2022.20385.
- Sun, Liyang, and Sarah Abraham. 2020. "Estimating Dynamic Treatment Effects in Event Studies with Heterogeneous Treatment Effects." *Journal of Econometrics*.
- Sweis, Nadia J. 2022. "Revisiting the Value of a Statistical Life: An International Approach during COVID-19." *Risk Management* 24 (3): 259–72. https://doi.org/10.1057/s41283-022-00094-x.
- Tartof, Sara Y., Jeff M. Slezak, Heidi Fischer, Vennis Hong, Bradley K. Ackerson, Omesh N. Ranasinghe, Timothy B. Frankland, et al. 2021. "Effectiveness of mRNA BNT162b2 COVID-19 Vaccine up to 6 Months in a Large Integrated Health System in the USA: A Retrospective Cohort Study." *Lancet (London, England)* 398 (10309): 1407–16. https://doi.org/10.1016/S0140-6736(21)02183-8.
- "The Economist, 2020. Tracking Covid-19 Excess Deaths across Countries." 2023. The Economist. 2023. https://www.economist.com/graphic-detail/coronavirus-excess-deaths-tracker.
- *Time*. 2021. "What Went Wrong with COVAX, the Global Vaccine Hub," September 9, 2021. https://time.com/6096172/covax-vaccines-what-went-wrong/.
- UN News. 2021. "COVID Vaccines: Widening Inequality and Millions Vulnerable," September 19, 2021. https://news.un.org/en/story/2021/09/1100192.
- Viscusi, W. Kip. 2023. "The Global COVID-19 Mortality Cost Report Card: 2020, 2021, and 2022." *PloS One* 18 (5): e0284273. https://doi.org/10.1371/journal.pone.0284273.
- Voysey, Merryn, Sue Ann Costa Clemens, Shabir A. Madhi, Lily Y. Weckx, Pedro M. Folegatti, Parvinder K. Aley, Brian Angus, et al. 2021. "Safety and Efficacy of the ChAdOx1 nCoV-19 Vaccine (AZD1222) against SARS-CoV-2: An Interim Analysis of Four Randomised Controlled Trials in Brazil, South Africa, and the UK." *The Lancet* 397 (10269): 99–111. https://doi.org/10.1016/S0140-6736(20)32661-1.
- Watson, Oliver J., Gregory Barnsley, Jaspreet Toor, Alexandra B. Hogan, Peter Winskill, and Azra C. Ghani. 2022. "Global Impact of the First Year of COVID-19 Vaccination: A

Mathematical Modelling Study." *The Lancet Infectious Diseases* 22 (9): 1293–1302. https://doi.org/10.1016/S1473-3099(22)00320-6.

- Weill, Joakim, Mathieu Stigler, Olivier Deschenes, and Michael Springborn. 2021. "COVID-19 Mobility Policies Impacts: How Credible Are Difference-in-Differences Estimates?" SSRN Scholarly Paper ID 3896512. Rochester, NY: Social Science Research Network. https://doi.org/10.2139/ssrn.3896512.
- Whaley, Christopher M., Megan F. Pera, Jonathan Cantor, Jennie Chang, Julia Velasco, Heather K. Hagg, Neeraj Sood, and Dena M. Bravata. 2020. "Changes in Health Services Use Among Commercially Insured US Populations During the COVID-19 Pandemic." *JAMA Network Open* 3 (11): e2024984. https://doi.org/10.1001/jamanetworkopen.2020.24984.
- "WHO Coronavirus (COVID-19) Dashboard." 2023. May 2023. https://covid19.who.int.
- Wu, Nana, Keven Joyal-Desmarais, Paula A. B. Ribeiro, Ariany Marques Vieira, Jovana Stojanovic, Comfort Sanuade, Doro Yip, and Simon L. Bacon. 2023. "Long-Term Effectiveness of COVID-19 Vaccines against Infections, Hospitalisations, and Mortality in Adults: Findings from a Rapid Living Systematic Evidence Synthesis and Meta-Analysis up to December, 2022." *The Lancet Respiratory Medicine* 11 (5): 439–52. https://doi.org/10.1016/S2213-2600(23)00015-2.
- Ziedan, Engy, Kosali Simon, and Coady Wing. 2020. "Effects of State COVID-19 Closure Policy on NON-COVID-19 Health Care Utilization." w27621. Cambridge, MA: National Bureau of Economic Research. https://doi.org/10.3386/w27621.

8. TABLES AND FIGURES

Table 1: Effects of COVID-19 Vaccines on Deaths								
	(1)	(2)	(3)	(4)				
Panel A: Weekly Excess	· · ·							
Deaths / 100								
	-0.0000406	-0.000208***	-0.000204***					
Vaccine Stock	(0.0000254)	(0.0000585)	(0.0000627)					
	× ,	0.00000317***	0.00000335***					
Vaccine Stock ²		(0.0000088)	(0.0000094)					
				-0.000906***				
√Vaccine Stock				(0.000256)				
Country FE	Х	Х	Х	X				
Week FE	Х	Х						
Country X Week			Х	Х				
Country X Week ²			Х	Х				
Observations	3,354	3,354	3,354	3,354				
R-squared	0.322	0.329	0.395	0.398				
Panel B: Weekly COVID-19								
Deaths / 100								
	-0.0000397**	-0.000136***	-0.000358***					
Vaccine Stock	(0.0000156)	(0.0000293)	(0.0000665)					
		0.00000183***	0.00000457***					
Vaccine Stock ²		(0.000005)	(0.0000095)					
				-0.00150***				
\sqrt{V} accine Stock				(0.000326)				
Country FE	Х	Х	Х	Х				
Week FE	Х	Х						
Country X Week			Х	Х				
Country X Week^2			Х	Х				
Observations	3,354	3,354	3,354	3,354				
R-squared	0.444	0.450	0.489	0.494				

This table estimates the effect of COVID-19 vaccines (*i.e., Vaccine Stock*) on weekly excess deaths per 100 population and weekly COVID-19 deaths per 100 population. Column 1 is the basic model, where deaths per 100 population for a given week is regressed on *Vaccine Stock* – the stock of fully vaccinated people per 100 population until 2 weeks prior to that week after taking into account the waning effect of vaccines over time. Columns 2 and 3 use second degree polynomial of *Vaccine Stock*. Columns 4 uses square root of *Vaccine Stock*. Columns 1 and 2 control for country and week fixed effects. Columns 3 and 4 control for country fixed effect and country specific quadratic time trend - country*time and country*time². Standard error is clustered at country-level. *** p<0.01, ** p<0.05, * p<0.1



Panel A: Post-Vaccination Period

Figure 1: Cumulative Excess Deaths vs Percentage People Fully Vaccinated – 43 Countries

Panel B: Pre-Vaccination Period



Panel C: Change from Pre-Vaccination to Post-Vaccination Period





Figure 2: Change in Excess deaths per 100 people Pre and Post Vaccination

The above event study is estimated using the 3-step dynamic treatment effect approach outlined in Sun and Abraham (2020).



Figure 3: Trends in Excess Deaths and Vaccination – 43 Countries



Figure 4: Change in Excess Deaths Averted (From Actual to Equitable Distribution Scenario)



Figure 5: Percentage Change in Excess Deaths Averted (From Actual to Equitable Distribution Scenario)



Figure 6: Change in Value of Excess Deaths Averted (From Actual to Equitable Distribution Scenario)



Figure 7: Percentage Change in Value of Excess Deaths Averted (From Actual to Equitable Distribution Scenario)

9. APPENDIX

9.1. 141 Countries – Weekly Vaccination Data

The Our World In Data (OWID) (Mathieu et al. 2020) provides complete vaccination data for all countries and regions, however, several countries have gaps in their data. For each country, the dataset provides the daily data on the cumulative number of people that are fully vaccinated, which includes individuals who have completed the initial vaccination protocol. Since the study focuses on weekly analysis, we create weekly dataset on the cumulative number of people that are fully vaccinated, from March 2020 to August 2021, within a specific country.

Next, given the scope of our analysis which is focused on the first 8 months of the vaccine distribution, we excluded countries that lack vaccination data until May 2021. This exclusion is made because we are not sure whether the absence of data is due to missing information or the unavailability of vaccines. Out of the remaining countries, we excluded those that have data for less than half of the total number of weeks from January 2021 to August 2021, i.e., fewer than 34 weeks. Lastly, we used interpolation to fill in the missing data between the first week of vaccination and the last week of August 2021 for each of the 141 countries. Weeks preceding the first week when the vaccination coverage is greater than zero were assigned zero. Additionally, 14 countries have weekly vaccination data available up to the early-to-mid August 2021 (week 34 of 2021). In the final dataset, we have weekly data on the cumulative number of people that are fully vaccinated from week 51 of 2020 (December 2020) to week 34 of 2021 (August 2021) for 141 countries. Using the weekly vaccination data, we construct our primary explanatory variable – Weekly *Vaccine Stock* for each of the 141 countries, as outlined in section 2.2.

Country	Population
Australia	25,921,089
Austria	8,922,082
Belgium	11,611,420
Bulgaria	6,885,868
Canada	38,155,012
Chile	19,493,184
Colombia	51,516,562
Croatia	4,060,135
Cyprus	896,007
Czech Republic	10,510,750
Denmark	5,854,240
Ecuador	17,797,737
Estonia	1,328,701
Finland	5,535,992
France	67,422,000
Germany	83,408,554
Greece	10,445,365
Guatemala	17,608,483
Hungary	9,709,786
Iceland	370,335
Iran	87,923,432
Israel	9,291,000
Italy	59,240,330
Latvia	1,873,919
Lithuania	2,786,651
Malta	526,748
Mexico	12,6705,138
Netherlands	17,501,696
New Zealand	5,129,728
Norway	5,403,021
Peru	33,715,472
Poland	38,307,726
Portugal	10,290,103
Romania	19,328,560
Slovakia	5,447,622
Slovenia	2,119,410
South Africa	59,392,255
South Korea	51,830,139
Spain	47,486,935
Sweden	10,467,097
Switzerland	8,691,406
United Kingdom	67,281,040
United States	336,997,624

 Table A1: List of 43 Countries included in the Regression Analysis

Week	Share of Population Fully Vaccinated (%)
Jan 4 – Jan 10, 2021	.01
Jan 11 – Jan 17, 2021	.05
Jan 18 – Jan 24, 2021	.1
Jan 25 – Jan 31, 2021	.18
Feb 1 – Feb 7, 2021	.32
Feb 8 – Feb 14, 2021	.49
Feb 15 – Feb 21, 2021	.69
Feb 22 – Feb 28, 2021	.93
Mar 1 – Mar 7, 2021	1.22
Mar 8 – Mar 14, 2021	1.52
Mar 15 – Mar 21, 2021	1.89
Mar 22 – Mar 28, 2021	2.25
Mar 29 – Apr 4, 2021	2.7
Apr 5 – Apr 11, 2021	3.19
Apr 12 – Apr 18, 2021	3.79
Apr 19 – Apr 25, 2021	4.39
Apr 26 – May 2, 2021	5.13
May 3 – May 9, 2021	5.88
May 10 – May 16, 2021	6.65
May 17 – May 23, 2021	7.33
May 24 – May 30, 2021	7.98
May 31 – Jun 6, 2021	8.66
Jun 7 – Jun 13, 2021	9.41
Jun 14 – Jun 20, 2021	10.25
Jun 21 – Jun 27, 2021	11.15
Jun 28 – Jul 4, 2021	12.14
Jul 5 – Jul 11, 2021	13.17
Jul 12 – Jul 18, 2021	14.32
Jul 19 – Jul 25, 2021	15.47
Jul 26 – Aug 1, 2021	16.63
Aug 2 – Aug 8, 2021	17.94
Aug 9 – Aug 15, 2021	19.2
Aug 16 – Aug 22, 2021	20.52
Aug 23 – Aug 29, 2021	21.82

Table A2: Equitable Distribution Scenario – Weekly Share of Fully Vaccinated Population in 141 Countries

Country	Population	% Fully	VSL ²	Excess Deaths	Value of Lives	Equitable –	Equitable –
	-	Vaccinated ¹	(in million \$)	Averted ³	Saved,	Excess Deaths	Value of Lives Saved,
					(in million \$)	Averted ⁴	(in million \$)
Afghanistan	32941000	1.44	0.06	2815	168	18973	1140
Albania	2878000	20.90	3.58	1632	5842	1658	5935
Andorra	78000	55.30	3.58	56	201	45	159
Angola	31031000	2.36	0.45	4131	1859	17872	8044
Antigua and Barbuda	98000	33.78	0.88	51	44	56	50
Argentina	45388000	26.98	1.20	22277	26731	26141	31371
Aruba	111000	61.99	0.88	112	96	64	55
Australia	25694000	25.90	1.80	8350	15029	14799	26638
Austria	8901000	59.41	3.58	8347	29882	5127	18352
Azerbaijan	10067000	24.83	3.58	5219	18684	5798	20758
Bahamas	385000	14.66	0.88	111	99	222	194
Bahrain	1472000	73.46	0.43	1915	823	848	364
Bangladesh	164689000	4.07	2.20	36758	80869	94854	208678
Barbados	288000	32.10	0.88	171	150	166	146
Belarus	9410000	13.51	3.58	2989	10701	5420	19402
Belgium	11522000	69.84	5.20	10472	54454	6636	34510
Belize	419000	16.08	0.88	116	101	241	210
Bermuda	63000	66.54	6.15	87	536	36	222
Bolivia	11630000	21.19	0.40	4182	1672	6698	2681
Bosnia and Herzegovina	3279000	12.46	3.58	828	2966	1889	6761
Brazil	211756000	27.32	1.00	124217	124216	121962	121962
Brunei	461000	17.24	1.80	100	180	266	475
Bulgaria	6917000	16.42	3.58	3509	12563	3984	14259
Cambodia	15678000	51.80	1.80	9585	17254	9030	16253
Cameroon	26546000	0.29	0.45	853	383	15289	6878
Canada	37973000	66.24	5.10	27322	139340	21871	111544
Cape Verde	557000	11.92	0.45	72	35	321	145
Cayman Islands	65000	75.52	0.88	96	85	37	33
Chile	19458000	68.84	1.60	23535	37656	11207	17930
Colombia	50372000	28.67	0.70	24653	17258	29012	20309
Comoros	897000	4.61	0.45	199	91	517	232
Costa Rica	5128000	19.57	0.88	3151	2773	2953	2603
Croatia	4042000	39.43	3.58	2915	10434	2328	8335

Table A3: Lives Saved and their Corresponding Value in 141 Countries

Curacao	163000	52.62	0.88	150	133	94	83
Cyprus	888000	58.00	3.58	826	2956	511	1831
Czech Republic	10694000	52.77	3.58	8947	32031	6159	22052
Denmark	5823000	70.05	3.58	5553	19881	3354	12008
Dominica	73000	27.65	0.88	50	44	42	36
Dominican Republic	10448000	43.94	0.90	6942	6246	6018	5415
Ecuador	17511000	43.93	0.70	6740	4719	10086	7062
Egypt	100878000	2.98	0.30	10403	3122	58101	17431
El Salvador	6486000	38.01	0.88	3138	2762	3736	3287
Equatorial Guinea	1406000	10.38	0.45	492	222	810	364
Estonia	1329000	47.67	3.58	1194	4272	765	2740
Fiji	900000	26.10	1.80	177	316	518	930
Finland	5525000	46.89	3.58	3429	12273	3182	11395
France	65124000	59.47	4.70	56350	264842	37509	176288
Gabon	2108000	2.52	0.45	241	109	1214	549
Georgia	3717000	8.75	3.58	644	2305	2141	7663
Germany	83161000	59.84	5.30	74845	396676	47897	253856
Gibraltar	34000	115.32	3.58	71	254	20	69
Greece	10719000	52.86	3.58	9567	34251	6174	22101
Greenland	57000	54.79	3.58	43	154	33	118
Grenada	113000	16.39	0.88	47	40	65	56
Guatemala	17974000	5.47	0.50	1906	953	10352	5177
Guinea	13967000	2.57	0.45	2060	927	8044	3619
Guyana	787000	19.93	0.88	324	285	453	398
Honduras	9942000	10.86	0.30	1109	332	5726	1718
Hong Kong	7428000	43.42	1.80	4581	8245	4278	7700
Hungary	9770000	56.34	3.58	10605	37967	5627	20147
Iceland	364000	72.33	3.58	385	1377	210	752
India	1378595000	9.78	0.20	451778	90355	794009	158800
Indonesia	270204000	12.24	0.40	100839	40336	155625	62251
Iran	84139000	7.31	0.60	12917	7749	48460	29077
Ireland	4994000	67.49	6.80	4644	31581	2876	19559
Isle of Man	85000	71.32	3.58	100	358	49	177
Israel	9214000	59.64	0.43	15227	6549	5307	2285
Italy	59641000	60.11	3.80	53944	204990	34351	130531
Jamaica	2737000	5.14	0.88	484	427	1576	1387
Japan	125849000	46.04	4.60	54828	252207	72483	333424
Jordan	10209000	27.56	0.43	4823	2075	5880	2530

Kazakhstan	18877000	27.14	0.90	8020	7220	10872	9783
Kyrgyzstan	6517000	6.19	0.10	766	77	3754	375
Laos	7276000	23.37	1.80	2341	4213	4191	7544
Latvia	1908000	39.11	3.58	1337	4788	1099	3933
Lebanon	6825000	15.44	0.43	2590	1114	3931	1690
Lithuania	2795000	52.72	3.58	2583	9247	1610	5764
Malaysia	32939000	42.76	1.80	12683	22827	18971	34148
Maldives	378000	79.54	0.67	384	258	218	146
Mali	19658000	0.44	0.45	1025	461	11322	5093
Malta	515000	79.78	0.43	626	268	297	126
Mauritania	4147000	0.64	0.45	217	99	2388	1073
Mauritius	1267000	55.62	0.45	629	284	730	329
Mexico	127792000	24.94	1.00	71308	71309	73602	73604
Moldova	2634000	24.19	3.58	925	3312	1517	5431
Monaco	39000	56.29	3.58	45	162	22	80
Mongolia	3355000	61.69	1.80	2833	5097	1932	3476
Montenegro	621000	28.37	3.58	349	1250	358	1280
Morocco	35952000	37.98	0.40	27945	11179	20707	8285
Mozambique	31255000	2.09	0.45	2436	1095	18001	8102
Namibia	2504000	4.03	0.45	277	123	1442	646
Nepal	28840000	13.60	0.67	6131	4109	16611	11130
Netherlands	17408000	61.66	5.80	15009	87053	10026	58150
New Zealand	5087000	21.26	1.80	1919	3457	2930	5272
Niger	24207000	0.36	0.45	794	355	13942	6274
Nigeria	206140000	0.69	0.20	12944	2588	118727	23747
North Macedonia	2069000	24.76	3.58	715	2562	1192	4266
Norway	5385000	52.39	3.58	4464	15983	3102	11102
Oman	4445000	23.46	0.43	1507	647	2560	1100
Pakistan	208570000	7.01	0.20	30363	6070	120127	24027
Panama	4279000	23.57	1.60	2238	3579	2465	3945
Paraguay	7253000	22.81	0.88	1431	1259	4177	3677
Peru	33494000	23.68	0.70	14129	9893	19291	13503
Philippines	108800000	12.16	0.40	22134	8854	62664	25066
Poland	37958000	48.99	1.70	33357	56704	21862	37166
Portugal	10310000	69.94	2.50	9749	24375	5938	14845
Qatar	2684000	74.86	0.43	2392	1028	1546	664
Romania	19329000	26.31	1.40	15432	21604	11133	15585
Russia	146171000	24.11	1.20	77571	93084	84188	101027

Saint Kitts and Nevis	57000	36.87	0.88	31	30	33	29
Saint Lucia	181000	15.19	0.88	67	59	104	91
Sao Tome and Principe	218000	5.45	0.45	46	21	126	55
Senegal	16744000	3.37	0.45	1744	786	9644	4339
Serbia	6927000	40.27	3.58	7194	25753	3990	14281
Seychelles	97000	72.67	0.45	154	69	56	23
Singapore	5686000	73.08	1.80	5760	10371	3275	5897
Sint Maarten	42000	54.48	0.88	32	28	24	20
Slovakia	5458000	41.29	3.58	4623	16551	3144	11255
Slovenia	2096000	43.70	3.58	1864	6672	1207	4323
Solomon Islands	685000	2.29	1.80	76	137	395	709
Somalia	15046000	0.63	0.45	822	370	8666	3897
South Africa	59622000	8.62	0.70	13219	9256	34340	24036
South Korea	51781000	25.61	1.80	18508	33315	29824	53683
Spain	47111000	67.81	3.30	43887	144828	27134	89542
Sri Lanka	21920000	27.70	0.67	5378	3604	12625	8458
Suriname	603000	19.44	0.88	151	133	347	304
Sweden	10379000	50.53	6.10	8078	49274	5978	36468
Switzerland	8606000	54.17	9.40	8075	75906	4957	46594
Thailand	69800000	9.55	1.80	16100	28979	40202	72365
Timor-Leste	1318000	13.76	1.80	170	304	759	1367
Tonga	100000	25.78	1.80	24	44	58	104
Trinidad and Tobago	1399000	27.01	0.88	318	278	806	709
Tunisia	11903000	14.73	0.43	3189	1372	6856	2948
Turkey	83614000	42.91	1.10	63559	69916	48158	52974
Ukraine	41512000	8.09	0.40	5712	2286	23909	9562
United Kingdom	67081000	62.95	4.70	72834	342317	38636	181588
United States	335275000	53.31	7.20	429486	3092298	193103	1390344
Uruguay	3531000	70.82	0.88	3228	2840	2034	1791
Vietnam	97406000	2.19	1.80	4807	8651	56102	100981
Zambia	18882000	1.33	0.45	778	349	10875	4895
Zimbabwe	15189000	10.09	0.45	3585	1614	8748	3936
Total	5,253,202,000			2,356,320	\$6,503,494	3,025,610	\$4,690,516 million
					million		

¹ Percentage Fully Vaccinated by August 2021. ² VSL estimate is used from (Sweis 2022). Countries with missing VSL estimates are assigned the average VSL estimate of their respective region – East Asia & Pacific, Europe & Central Asia, Latin America & Caribbean, Middle East & North Africa, North America, South Asia, and Sub-Saharan Africa. ³Weekly excess deaths averted in each of the 141 countries is calculated using estimates from the preferred square root model. Total Excess deaths averted from Jan to Aug 2021 in each country is equal to the sum of deaths averted in each week. ⁴Equitable - Excess deaths averted: number of lives that would have been saved if vaccines were distributed among 141 countries proportional to their population.

Figure A1: Trends in Excess Deaths per 100K people and Percentage People Fully Vaccinated – 43 Countries





Figure A2: Total Benefit of COVID-19 Vaccines with Increase in Vaccination Rate



Panel B: Square Root Relationship – 43 Countries



Figure A3: Speed of Vaccines Rollout vs. Income Level

Note: Number of weeks it took to fully vaccinate 5 percent of population

Figure A4: Share of Population Fully Vaccinated by August 2021 vs. Income Level





Figure A5: Worldwide - Share of Population Fully Vaccinated by August 2021



Figure A6: Country-wise Prediction of Excess Deaths – Square Root Model



